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INSTRUKCE 

Test obsahuje 25 otázek s alternativami odpovědí (A), (B), (C) a (D), z nichž pouze JEDNA je 

správná. Svoji odpověď zapište odpovídajícím písmenem do příslušného rámečku vpravo. Chcete-li 

odpověď změnit, křížkem škrtněte původní a vedle zapište novou tak, aby změna byla zcela jasná a 

nezpochybnitelná. Správná odpověď se hodnotí jedním bodem, žádná nebo nesprávná odpověď 

žádným bodem, tj. maximální počet dosažitelných bodů je 25. Na vypracování testu máte 15 minut. 

Při testu nelze používat žádné materiály ani elektronická média.  

 

Choose the best option. 

 

1. It’s the best film I’ve ever seen. You ………. see it too! You’ll love it. 

(A) must (B) had to (C) don’t have to (D) need 

 

2. And what .......... you ………. in the evenings, Billy?      

(A) do … doing           (C) do … do  

(B) does … did                  (D) does … do   

 

3. Peter plays football every .......... . 

(A) week (B) days (C) Sundays (D) months 

 

4.  I’m sorry, I ………. to translate that text yet. 

(A) haven’t been able       (C) won’t able 

(B) wasn’t be able      (D) not able 

 

5. It’s .......... in here for me to concentrate.    

(A) loud too (B) too loud (C) too loudly (D) loudly too 

 

6. Leave me alone. I .......... my homework. 

(A) am doing  (B) is doing  (C) do  (D) does  
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Varianta: 1314   TEST Z ANGLICKÉHO JAZYKA     3 strany – 2. strana 

 

 

7. We .......... a staff meeting next Monday.  

(A) has                                 (C) will to have  

(B) will having                                 (D) are having 

 

8. They are .......... older than me. 

(A) many                     (B) much    (C) a lot of  (D) lots of 

 

9. Your uncle lives in Sweden, ………. ?  

(A) does he                          (C) doesn’t she  

(B) does she                       (D) doesn’t he 

 

10. This is the first time he .......... a bicycle. He looks very funny, doesn’t he? 

(A)  rode     (B) ride (C) has ridden (D) ridden 

 

11. I think I’ll sell my pet crocodile. It’s just ………. trouble. 

(A) too many (B) so many (C) too much (D) too little 

 

12. If this book was in Czech, I ………. it. 

(A) read  (B) would read  (C) will read  (D) reads 

 

13. He is fifteen years .......... his wife. 

(A) younger from  (B) young as   (C) youngest to (D) younger than 

 

14. I .......... the guitar ever since I .......... a teenager. 

(A) have played … was (C) have played … were 

(B) was playing … have been      (D) played … was 

 

15. If I have time, I .......... to the cinema. 

(A) will go (B) would go (C) go (D) went 

 

16. I have never met .......... so selfish before. 

(A) no one  (B) somebody   (C) nobody  (D) anybody 

 

17. The British and Irish have been quarreling .......... seven centuries. 

(A) since (B) in (C) for (D) before 

 

18. I will go home as soon as the lesson .......... . 

(A)  ended (B) ends (C) will end (D) is ending 

 

19. How many people .......... at the cinema last night? 

(A) was there (C) have been there  

(B) are there (D) were there 
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20. My .......... best friend lives on ………. other side of ………. street. 

(A) the … the … the  (C) no article … the … the     

(B) no article … the … an                         (D) a … the … the  

 

21. We ........ £1000 to John and £2000 to Peter a year ago. 

(A) lend (B) lent (C) borrow (D) borrowed 

 

22. The finance director is responsible for .......... the money to develop and make the planes. 

(A) to get (B) getting (C) got (D) to got  

 

23. Where were the products .......... ? 

(A) sell  (B) sold (C) sells (D) selling 

 

24. I hope .......... you soon.   

(A) see (B) seeing  (C) saw (D) to see 

 

25. Many small businesses .......... after the recession. 

(A) went bankrupt (B) gone bankruptcy (C) goes bankrupt  (D) go bankruptcy 



KLÍČ – VARIANTA: 1314 

 

1. (A) 

2. (C) 

3. (A) 

4. (A) 

5. (B) 

6. (A) 

7. (D) 

8. (B) 

9. (D) 

10. (C) 

11. (C) 

12. (B) 

13. (D) 

14. (A) 

15. (A) 

16. (D) 

17. (C) 

18. (B) 

19. (D) 

20. (C) 

21. (B) 

22. (B) 

23. (B) 

24. (D) 

25. (A) 
 


